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No aids are permitted.

1. Show that the following formulas are not derivable in intuitionistic logic,
i.e., ̸⊢i φ:

(a) (p0 → p1) ∨ (p1 → p0), where pi are 0-ary predicate symbols. (2p)
(b) (p → ∃xP (x)) → ∃x(p → P (x)), where p is a 0-ary and P a unary (3p)

predicate symbol.

2. Define a translation/function f : FORM → FORM such that (4p)

⊢c φ iff ⊢i f(φ).

3. State the subformula property of classical predicate logic and use it to (4p)
prove that ̸⊢c ⊥

4. State and prove the Gödel incompleteness theorem given the Fixpoint the- (4p)
orem.

5. (a) Define what a primitive recursive function is. (2p)
(b) Give an example of a partial recursive function that is not primitive (1p)

recursive.
(c) Give an example of a recursive function that is not primitive recur- (2p)

sive.

Max points: 22. 11 points are required for Pass (G) and 16 for Pass with distinc-
tion (VG).
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